
Possible Solutions 

 

Substitute each number in the Input column for 𝑥 in the Rule column. Put the resulting 

number in the Output column. The Input/Output pairs become the ordered pairs for the 

points on the graph. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(Input) 
x 
0 
2 
4 
7 
8 

Rule 
y = 𝑥 + 3 

0 + 3 
2 + 3 
4 + 3 
7 + 3 
8 + 3 

 

(Output) 
 

3 
5 
7 

10 
11 

𝑦 = 𝑥 + 3 

 

Ordered Pairs 
(x, y) 
(0, 3) 
(2, 5) 
(4, 7) 

(7, 10) 
(8, 11) 

𝑦 = 𝑥 + 3 
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(0, 3) 

(2, 5) 

(4, 7) 
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𝑦 = 2𝑥 

1 2 3 4 5 6 7 8 9 1

0 

1 

2 

3 

4 

5 

6 

7 

8 

9 

1

0 

1

1 

1

2 

x 

y 

(input) 

(o
u

tp
u

t)
 

(0, 0) 

(2, 4) 

(3, 6) 

(4, 8) 

(5, 10) 

(Input) 

x 
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Rule 
𝑦 = 2𝑥  

2(0) 

2(2) 

2(3) 

2(4) 

2(5) 

 

(Output) 
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Ordered Pairs 

(x, y) 

(0, 0) 

(2, 4) 

(3, 6) 

(4, 8) 

(5, 10) 

𝑦 = 2𝑥 


